Components

for customer assembled Taper Sleeve Flange Chucks

DMAYR

ANTRIEBSTECHNIK

Assembly group for hand clamping (optional)

Edmayr Antriebstechnik GmbH
Thalham 20, 4880 St. Georgen im Attergau

f . L Tel.: +43 7667 6840 Fax: +43 7667 20070
‘or components with central through bore holes g )
office@edmayr.at www.edmayr.at
n Zg1 DIN EN ISO 4762
1
i ———
2o | = 0 |
1S S} I
=) = .
_ " . "77
UNENFT—
/ 7
—— \_Zg2DINENISO 4762 Zg3 (4 x90°)
(2x180°) up to HKFF 96 DIN 7984
as of HKFF 106 DIN EN I1SO 4762
31-1
for Ag Lg Tg Zg1 792 Zg3 | Art-No. for Ag Lg Tg Zg1 792 Zg3 | Art-No.
size mm mm mm 3128- size mm mm mm 3128-
HKFF 66 48 12 34 M12x35 | M6x16 | M5x12 | 048902 HKFF 134 68 15 54 M 16x45 | M6x20 | M6x20 | 068901
HKFF 76 48 12 34 M12x35| M6x16 | M5x12 | 048901 HKFF 150 68 15 54 M 16x55 | M6x20 | M6x20 | 068902
HKFF 86 48 12 34 M12x35| M6x16 | M5x12 | 048901 HKFF 160 68 15 54 M 16x55 | M6x20 | M6x20 | 068902
HKFF 96 48 12 34 M12x35 | M6x20 | M5x12 | 048901 HKFF 175 68 15 54 M16x55 | M6x20 | M6x20 | 068902
HKFF 106 68 15 54 M 16x45 | M6x20 | M6x20 | 068901 HKFF 190 68 15 54 M 16x60 | M6x20 | M6x20 | 068903
HKFF 114 68 15 54 M 16x45 | M6x20 | M6x20 | 068901 HKFF 205 68 15 54 M16x60 | M6x20 | M6x20 | 068903
HKFF 124 68 15 54 M 16x45 | M6x20 | M6x20 | 068901 HKFF 225 68 15 54 M 16x60 | M6x20 | M6x20 | 068903
Backstop ring (optional)
ZIDIN ENISO 4762
[ I (4x90°
e = £
—®
‘, > " e (ST
~ ] | ey é
S8 s===ufl}
- sl s =
31-2
for Al max. Ba2 Bl min. Ta2 Zl for Al max. Ba2 Bl min. Ta2 Zl
size mm mm mm mm size mm mm mm mm
HKFF 66 39 25,6 12,0 32 M4 HKFF 134 109 85,0 16,5 95 M5
HKFF 76 49 336 12,0 40 M4 HKFF 150 119 90,0 16,5 100 M5
HKFF 86 59 43,6 12,0 50 M4 HKFF 160 129 98,0 16,5 110 M5
HKFF 96 69 53,6 12,0 60 M4 HKFF 175 144 113,0 16,5 125 M5
HKFF 106 79 55,6 16,5 66 M5 HKFF 190 159 121,0 16,5 143 M5
HKFF 114 89 63,6 16,5 74 M5 HKFF 205 174 143,0 16,5 155 M5
HKFF 124 929 750 16,5 85 M5 HKFF 225 189 162,0 16,5 173 M5

Missing dimensions reflect component geometry.

31




